
SAP ABAP table NWCH91_AUSG {IS-H CH: Honoraraufteilungsergebnisse aus Ausgleichsreport}

NWCH91_AUSG

MANDT [CLNT (3)]

EINRI [CHAR (4)]

LFDNR [CHAR (10)]

LAUFNR [CHAR (15)]

ABGEBER [CHAR (16)]

WAERS [CUKY (5)]

AUFTKZ [CHAR (2)]

BUKRS [CHAR (4)]

AUFWKTO [CHAR (10)]

BUKRS_PASS [CHAR (4)]

PASSIVKTO [CHAR (10)]

SKB1

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SAKNR [CHAR (10)]

 NWCH91_AUSG-AUFWKTO = SKB1-SAKNR 

0..N

1

 NWCH91_AUSG-PASSIVKTO = SKB1-SAKNR 0..N

1

T000

MANDT [CLNT (3)] NWCH91_AUSG-MANDT = T000-MANDT 0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 NWCH91_AUSG-BUKRS = T001-BUKRS 
0..N1  NWCH91_AUSG-BUKRS_PASS = T001-BUKRS 
0..N1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 NWCH91_AUSG-WAERS = TCURC-WAERS 

0..N

1

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 NWCH91_AUSG-EINRI = TN01-EINRI 

0..N

1

TNWCH100

MANDT [CLNT (3)]

EINRI [CHAR (4)]

AUFTKZ [CHAR (2)]

 NWCH91_AUSG-AUFTKZ = TNWCH100-AUFTKZ 

0..N

1


